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2024
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=5 km >100 kbit/s
>10dB
=100 kHz =20 km

>3 dB
1.2

250 1 kbps



6 2 cm?

GHz
=>6
3 U

>4
MHz >3
MHz 12 h

1.3
1
>0.6m 30m

nm 100 nm >50
5%



Sb

100 ps
20 ms
3 MHz
0.5 kHz
99.5% 95%
90%

2.2



23

30



3.2

1 pm

mK

50-300 nm

1 kHz -

40 as 100 meV
41

1fs

50 as



EPR

-5dB
6 dB
3.3

EPR
-8 dB

10 dB



10 mT - 10 mT
100 pT/HzY? +0.05°



2 MHz 1 pT/HZ?

3.5



288i

288i
500 nm
28Gj 99.99%
288i
>10 ms
4.2
NV~
2 NV~

us

>70%

285i
28Gj 5 9
4
5x10%/cm3
NV-
NV-
3
NV-
10
NV~
>70%



4.3 SQUID

SQUID
SQUID SQUID
SQUID
SQUID
SQUID
100 nm SQUID
50£0.5nm SQUID 300 mK
6 K 1T
; SQUID 20%20 um?

10 nT/HZzY2 100 nm :



